B 1

B ahiaE MBI 4D I AR

B8] RIZFRLR B RAT
MR TE
. 1. Z=EHX
4% Hi
N 2. BEMA ’
W % HL K| 52 #2 15 B W 25 AL R 52 3% 3
1. MIB/SIB
2. 5G NSA EaifzARAEMT
3. 5G NSA # A RE
4. 5G SA EfRm ML
5. 5G SAWHBENGEARE
s 6. 5G RRC Efz4
= ALV £
%= % 56 FARE 7. 56 UE E TXEI A RE )
8. 5G RRC Inactive R fz4mAE
9. 56 FHEARE
10. 5G SA ¥#fz4mAE
11. 4G/5G B #1E
12. #EiEER
5G A AT L ERHEADITLE 3
1. SHE3MNE&THRE
5G ¥ 45 35 B 3t 1 AL 2. KPI f84r2 X 3
E=-x 3. BE/VE/NE/EiE/ AR/ EERERTN
4R 3B 3 AR A), 52
§m§%@%%@* S8 5 A 3
1. 2Ktz
AT ME 2k 48
%mi5GiMﬁ“ﬁ% 0. BB R R AR A 3
56 &M MEERALE | 2N HEREARGFLE 3
R LIRS
1. ZEEANX
HE-S 2. B 3
3. EUE
F-X B ELHCHE 45 % 50 3
P 45 AL R 52 #2 3

1/2




A< (&)

RIEHELR

oE

RAET

5G /(r:z /}lh%

MIB/SIB

5G NSA E Az AR AE ik
5G NSA #3115 4 i A2
5G SA B RRAEMA

5G SA #1EEENE A AR
5G RRC # i {5 472
56 UE LT X fz4AE
5G RRC Inactive # = 54~
56 FFfEARAE

10. 5G SA Y1#fE4HAE

11. 4G/5G H#1E

12. B ERE

J)Iu 7/&

e I G

BB E A0 AT EH

5G K % 3 2 3 (AL
2 WM RE IR A

5G 3t 2 3% P &AL 7 ik

5G 3 21| 3 ) 4% 1k X 77 5 4
5G 2 WMk fgir K &

5G & P 1 fE 7 T 52 7

5G 4 P M b 38 18 A+ I ik
KPT #5472 X

B/ /T EE/ R/ RER

NSO W

RAE IR

. EHAREERT

3 % 3%
THEER R

An 2 P RE 5

St 23w L An & P e 42 T 2

FWR

P 3 5 A L R 3K
#

1. 5GHTHE A

2. TWMRMATE

3. python & AH# Y

4 Aiﬁ &fﬂ(ﬁiﬁﬁ/ﬁ&im)
5 B WAk B 7 ik B A

o
mp
o~
i
ﬁ
h2!
S
&tﬁ.
A

21/2




